Case No. P15832

3

5

6

8

10

12

13

14

15

16

17

18

19

20

21

22

27

28

IN THE NINTH JUDICIAL DISTRICT COURT OF THE STATE OF NEVADA, IN AND FOR THE COUNTY OF DOUGLAS

In the Matter of the Estate of

Amended ORDER SETTLING FINAL

SHELLEY D. BUSTANHOBY

ACCOUNT AND

DISTRIBUTION

JUDGMENT OF FINAL

11 Deceased

LOUIS BUSTANHOBY, the Administrator of the Estate of SHELLEY D.

BUSTANHOBY, deceased, has filed his Petition for final distribution. The Report and Petition were heard on February /6, 1987, Judge Robison presiding.

THE COURT FINDS:

- 1. The representative was and still is authorized to Administer the Estate.
- 23 2. Notice to Creditors was properly given and the time for Creditors
 24 Claims expired with none being filed.
- 25 3. Notice of Hearing of the Petition has been regularly given as prescribed by law. All allegations of the Petition are true.

161579

300K **987**PAGE **435**

- 4. SHELLEY D. BUSTANHOBY died intestate on November 16, 1984 at Douglas County, Nevada. At death she was a resident of that County. The Estate is now in a condition to be closed. All claims filed or presented against the Estate for expenses for last illness and funeral expenses have been allowed by the Administrator approved by this Court and paid.
- 5. All debts of the Estate and all expenses of the Administration, except for accountant and attorney fees have been paid
- 6. The Federal Estate Tax return has been filed for this Estate showing no tax to be due. The return has not yet been audited and the Administrator has not been released from personal liability for the Federal Estate tax.
- 7. There will be no further expenses of closing the Estate other than paying the attorney and accountant fees.
- 8. All assets of the Estate are the decendent's one-half interest in the community property of the decedent and her surviving spouses's one-half interest.

IT IS ORDERED ADJUDGED AND DECREED:

- 1. That after deducting credits to which he is entitled the Administrator has in his possession property belonging to the Estate of the appraised valuation of \$2,202,950.00.
- 2. The account of the Executor is settled and allowed as prayed for in the Petition.

BOOK 987 MGz 436

- 3. That the Executor shall pay \$5,500.00 to HENRY R. BUTLER as his statutory attorney fees and shall pay LOUISE BUSTANHOBY \$3,000.00 as accountant fees.
- 4. LOUIS BUSTANHOBY shall distribute the balance of the Estate to LOUIS BUSTANHOBY as his sole and separate property. The property to be distributed to LOUIS BUSTANHOBY is shown in attachment A.
- 5. All other property which is later discovered and which was owned by the decdent at the time of her death or in which her Estate has acquired or may hereafter acquire any interest shall be forthwith distributed to LOUIS BUSTANHOBY as his sole and separate property without the necessity of any further Court Order.
 - 6. The Administration of the Estate is brought to a close.
- 7. All acts of the Administrator relating to the matters in the Account, Petition, and Report are approved.
- 8. LOUIS BUSTANHOBY is discharged from further liability as the Administrator of the Estate.

DATED: 4-28-87

JUDGE OF THE DISTRICT COURT

500K **987**PAGE **437**

SCHEDULE A - REAL ESTATE

NO.	DESCRIPTION	VALUE
1	HOUSE AND LOT, 1017 TILLMAN LANE, GARDNERVILLE, NEVADÁ (APN	
	*27-311-11). VALUE BASED ON APPRAISAL, COPY OF WHICH IS ATTACHED	\$:84,000.00
2	COMMERCIAL LOT AND BUILDING, 1461 HIGHWAY 395, GARDNERVILLE, NEVADA	^
	(APN 25-332-06) VALUE BASED ON APPRAISAL, COPY OF WHICH IS ATTACHED.	\$120,000.00
		\
	TWENTY-SIX UNIT MOTEL, 1353 HIGHWAY 395, GARDIÆRVILLE, NEVADA	\ \
•	. (APN _, F25-431-04). YALUED BASED ON APPRAISAL, COPY OF WHICH IS ATTACHED	\$.750,000.00
		\ \
4	YACANT LOT, LOT 430, GARDNERMELE RANCHOS UNIT 6, GARDRERVILLE, NEVADA.	\ \
	(APN #29-186-08) VALUE BASED ON APPRAISAL, COPY OF WHICH IS ATTACHED.	\$12,000.00
		J
5	YACANT LOT, LOT 118, GARDNERVILLE RANCHOS UNIT 5, GARDNERVILLE, NEVADA.	
	(APN R29-153-07) VALUE BASED ON APPRAISAL, OCPY OF WHICH IS ATTACHED.	00.000, 84
6	VACANT LOT, LOT 173, GARDNERVILLE RANCHOS UNIT 2, GARDNERVILLE, NEVADA.	
	(APN =27-422-05) VALUE BASED ON APPRAISAL, COPY OF WHICH IS ATTACHED.	\$15,000.00
		\ /
7	VAÇANT LOT, FREDA LANE, MINDEN, NEVADA. (APK 125-020-03)	~
	VALUE BASED ON APPRAISAL, COPY OF WHICH IS ATTACHED.	\$24,000.00
8		
	(APN #10-374-10) VALUE BASED ON APPRAISAL, COPY OF WHICH IS TO LITHED.	\$20,000.00
9		_
	#19-243-04) VALUE BASED ON APPRAISAL, COPY OF WHICH IS ATT ACHED.	\$25,000.00
	REAL ESTATE TOTAL	\$1,053,000.00

161579

BOOK **987**PASE **438**

2 25 ASA,LTD. \$59,00 \$1,475.00 3 100 ATLANTIC RICHFIELD \$46,13 \$4,613.00 4 50 BLYVORUIZICHT COLD MINES \$10.38 \$519.00 5 7 CASTLE & COOKE, INC. \$15.75 \$110.00 6 50 CHEVROR CORP. \$32.75 \$19.00 7 25 CONTRIBENT AL CORP. \$32.75 \$19.00 9 25 DUDUSSNE LIGHT COMPAINY \$15.63 \$259.00 10 50 EAST DREFONTEIN GOLD MING. \$31.38 \$1,569.00 11 50 DOWN CORP \$43.50 \$2,175.00 12 25 GENERAL MOTORS CORP. \$74.75 \$1,669.00 14 100 GLEF & YESTERN MOUSTRES \$27.00 \$2,700.00 14 100 HARMONY GOLD MING \$42.50 \$2,175.00 15 250 HARTEESSTICTIN GOLD MING. \$6.25 \$1,563.00 16 25 HERSHEY OL CORP \$4.88 \$122.00 17 115 HORIZON CORP. \$4.88 \$122.00 18 100 HOUSTON OL TRUST UBI \$6.00 \$600.00 19 55 KEY PHARMACEUTICALS \$9,75 \$556.00 20 25 KINGOS MIRES, LTD \$22.00 \$550.00 21 25 KLOF GOLD MING \$0.0, LTD \$44.13 \$1,103.00 22 720 L&S, INC., CAPITAL STICKS 23 LEAMON GOLD MING \$4.25 \$1,563.00 24 75 LOCKHEED CORP \$4.88 \$1.700.00 25 SEPARAL MOTORS \$22.00 \$550.00 26 LEAMON GOLD MING \$6.25 \$1,563.00 27 28 KLOF GOLD MING \$6.00 \$600.00 28 KLYPHARMACEUTICALS \$9,75 \$536.00 29 25 KLYROSS MIRES, LTD \$22.00 \$550.00 20 25 KINGOS MIRES \$10.0KS \$22.00 \$550.00 21 25 KLOF GOLD MING \$6.00, LTD \$44.13 \$1,103.00 22 720 L&S, INC., CAPITAL STICKS \$22.50 23 LEAMON GOLD MING \$1.00 24 75 LOCKHEED CORP \$43.85 \$3,272.00 25 SEPARTE RESOURCES \$4.75 \$252.00 26 100 PACETIC GAS & ELECTRIC \$16.28 \$1,638.00 27 25 PENNSYLVANIA POWER \$24.28 \$606.00 28 52 SEEPTIRE RESOURCES \$4.75 \$252.00 29 16 SEARLIL PPEIL DE ENERGY \$19.88 \$318.00 30 10 SEARS TAN-EXCHEPT ENESTMENT \$90.40 \$904.00 31 25 SEEPTIRE RESOURCES \$4.75 \$252.00 34 100 SEERS TAN-EXCHEPT ENESTMENT \$90.40 \$904.00 35 TOYOTA MOTOR BIRR YULSOR \$44.81 \$1.05.00 36 62 THE BOENG COMPANY \$54.63 \$3,287.00 37 25 TEXACO, INC. \$35.00 \$1.000 \$4520.00 38 62 THE BOENG COMPANY \$54.63 \$3,287.00 39 100 THE LITY CORP \$10.25 \$1,125.00 40 39 TOYOTA MOTOR BIRR YULSOR \$44.81 \$188.00 41 50 UNDYNAMIES, INC. \$14.25 \$713.00 42 25 YEATHEN FORD RITEMATERNAL \$5.75 \$94.00 45 STOOLD \$455.00 46 250.00 \$455.00 47 SETINGHOUSE ELECTRIC \$25.50 \$5,100.00	1:0.	NO SHAMES	COMPARY	URIT VALUE	Y'ALUE
100		25	ASA.LTD.	\$59.00	\$1,475,00
50			· · · · · ·		•
5 7 CASTLE & COOKE, INC. \$15.75 \$110.00 6 50 CHEYROR CORP. \$32.25 \$1,663.00 7 25 CONTRIENT AL CORP. \$32.75 \$19.00 8 25 CONTRIENT AL TELEPHONE \$21.50 \$538.00 9 25 DUQUESNE LIGHT COMPAINY \$15.63 \$291.00 10 50 EAST DREFORTEIN GOLD MING. \$31.38 \$1,569.00 11 50 DOXINI CORP. \$43.50 \$2,175.00 12 25 GENERAL MOTORS CORP. \$74.75 \$1,669.00 13 100 GLEF & YESTERN MOUSTRIES \$27.00 \$2,770.00 14 100 HARTBESSTICTIN GOLD MING \$6.25 \$1,753.00 15 250 HARTBESSTICTIN GOLD MING \$6.25 \$1,753.00 16 25 HERSHEY OE CORP \$4.88 \$122.00 17 115 HORDON CORP. \$4.88 \$122.00 18 100 HOUSTRON GEL TRUST UBI \$6.00 \$6.00					<u> </u>
6 50 CHEVRON CORP. \$33.25 \$1,663.00 7 25 CONTINENT AL CORP. \$32.75 \$819.00 8 25 CONTINENT AL TELEPHONE \$21.50 \$.538.00 9 25 DUQUESNE LIGHT CONFAIN* \$15.63 \$291.00 10 50 EAST DREFOVIEN GOLD MING. \$31.38 \$1,559.00 11 50 DWON CORP \$42.50 \$2,175.00 12 25 GENERAL MOTORS CORP. \$74.75 \$1,869.00 13 100 GILF & YESTERN MOUSTRIES \$27.00 \$2,700.00 14 100 HARMONY GOLD MINING CO. \$17.15 \$1,713.00 15 250 HARTEESSTICTIN GOLD MING \$6.25 \$1,565.00 16 25 HERSHY DIE CORP \$4.88 \$122.00 17 115 HORRON CORP. \$4.88 \$122.00 18 100 HOUSTON OL TRUST UBI \$6.00 \$6.00.00 19 55 KEY PHARMACEUTICALS \$9.75 \$556.00 20 25 KINGOS MINES, LTD \$22.00 \$550.00 21 25 KILGOF GOLD MINES CO., LTD \$44.13 \$1,103.00 22 720 L&S, INC., CAPIT AL STOCKS \$225,000.00 23 ES LIBATION GOLD MINES \$26.50 \$663.00 24 75 LOCKHEED CORP \$43.88 \$1,638.00 25 25 DEMAND ROLD MINES \$26.50 \$663.00 26 100 PACIFIC GAS & ELECTRIC \$16.38 \$1,638.00 27 25 PENNSYLVANIA POWER \$24.25 \$606.00 28 53 SCEDPTER RESOURCES \$4.75 \$252.00 29 16 SEASUL PIPELLINE ENERGY \$19.88 \$318.00 30 10 SEARS TAX-EXEMPTE INVESTMENT \$90.40 \$90.40 31 25 SEARS, ROEBUCK & CO. \$30.25 \$756.00 32 100 SERRA PACIFIC POWER CO. \$15.63 \$1,563.00 33 25 STEPLING DRUG \$26.88 \$672.00 34 100 STEFOITER MOUNT \$11.25 \$1,125.00 35 62 UNDIVISION DOLT PANY \$44.81 \$1.05.00 36 31 TENNECO, INC. \$35.58 \$1,112.00 37 25 TEXACO, INC. \$35.58 \$1,112.00 38 62 THE BOUND DOTT PANY \$44.81 \$1.80.00 40 39 TOYOTA MOTOR BIRR YESON \$4.81 \$1.80.00 41 50 UNDIVISIONED, INC. \$35.58 \$1,112.00 42 25 -YEATHERFORD INTERNATIONAL \$3.75 \$94.00 44 25 -YEATHERFORD RIFERNATIONAL \$3.75 \$94.00 45 YESTENGHOUSE ELECTRIC \$44.81 \$1.00.00 462.00 464 25 -YEATHERFORD RIFERNATIONAL \$3.75 \$94.00 47 25 TEXACO, INC. \$35.65 \$1,175.00 48 25 VESTENGHOUSE ELECTRIC \$47.00 \$1,175.00 49 YESTENGHOUSE ELECTRIC \$25.50 40 \$1,175.00 41 50 VESTENGHOUSE ELECTRIC \$25.50 41 50 UNDIVISAMES, INC. \$14.25 \$71.30.00					•
7 25 CONTINENT AL CORP. \$32.75 \$819.00 8 25 CONTINENT AL TELEPHONE \$21.50 \$538.00 9 25 DUQUESNE LIGHT COMPANY \$15.63 \$291.00 10 50 EAST DATE ONTE IN GOLD MING. \$31.38 \$1,549.00 11 50 DOWN CORP \$43.50 \$2,175.00 12 25 GENERAL MOTORS CORP. \$74.75 \$1,869.00 13 100 GILF & YESTERN MOUSTRES \$27.00 \$2,700.00 14 100 HARMOINY GOLD MINNG CO. \$171.13 \$1,713.00 15 250 HARTEBESSTINTIN GOLD MING \$6.25 \$1,563.00 16 25 HERSHEY OL CORP \$4.88 \$122.00 17 115 HORRON CORP. \$4.88 \$122.00 18 100 HOUSTON OL TRUST UBI \$6.00 \$6.00.00 19 55 KEY PHARMACEUTE ALS \$9.75 \$536.00 19 55 KEY PHARMACEUTE ALS \$9.75 \$536.00 20 25 KINGOSS MEES, LTD \$22.00 \$550.00 21 25 KLOF GOLD MINNG CO., LTD \$44.13 \$1,103.00 22 25 LEANON GOLD MINES \$26.50 \$663.00 23 25 LEANON GOLD MINES \$26.50 \$663.00 24 75 LOCKHEED CORP \$43.65 \$3.272.00 25 25 MONTANA POWER CO. \$25.15 \$628.00 26 100 PACFIC GAS & ELECTRIC \$16.38 \$1,638.00 27 25 PENNSYLVANIA POWER \$24.25 \$606.00 28 53 SCEDPTRE RESOURCES \$4.75 \$252.00 29 16 SEASUL PPELL NE ENERGY \$19.88 \$318.00 30 10 SEARS TAX-EXILPET INVESTMENT \$90.40 \$904.00 31 25 SEARS, ROCENCES \$4.75 \$252.00 32 100 SERRA PACE IC POWER CO. \$15.63 \$1,563.00 33 25 STERLING DRUG \$26.88 \$672.00 34 100 SELFONTE MINGS CO. \$10.00 \$620.00 35 62 SUNSHEE MINGS CO. \$35.88 \$1,112.00 36 31 TENNECO, INC. \$35.88 \$1,112.00 37 25 TENACO, INC. \$35.88 \$1,112.00 38 62 THE BOEING COMPANY \$54.63 \$3,287.00 39 100 THE LTY CORP \$10.25 \$1,025.00 40 39 TOYOTA MOTOR BIRR YUSON \$4.81 \$189.00 41 50 TUNDNYAMICS, INC. \$44.25 \$713.00 42 25 VESTENGHOUSE ELECTRIC \$47.00 \$1,175.00 44 20 VESTENGHOUSE ELECTRIC \$47.00 \$1,175.00			•		
25					•
9 25 DUQUESNE LIGHT COMP ANY \$15.63 \$291.00 10 50 EAST DREIF CYTEIN GOLD MING, \$31.38 \$1,559.00 11 50 EXXIN CORP \$42.50 \$2,175.00 12 25 GENERAL MOTORS CORP. \$74.75 \$1,659.00 13 100 GULF & YESTERN MOUSTRIES \$27.00 \$2,700.00 14 100 HARMONY GOLD MINING CO. \$17.13 \$1,713.00 15 250 HARTERESS TIXTIN GOLD MING \$6.25 \$1,563.00 16 25 HERSHEY OE CORP \$4.88 \$1.22.00 17 115 HORRON CORP. \$4.88 \$1.22.00 18 100 HOUSTON OL TRUST UBI \$6.00 \$600.00 19 55 KEY PHARMACEUTICALS \$9.75 \$556.00 20 25 KITROSS MELES, LTD \$22.00 \$550.00 21 25 KUTROSS MELES, LTD \$22.00 \$550.00 22 720 L&S, NC., CAPITAL STICKS \$225,003.00 23 25 LEANON GOLD MINES CO., LTD \$44.13 \$1,103.00 24 75 LOCKHEED CORP \$45.65 \$5.272.00 25 LOCKHEED CORP \$45.65 \$5.272.00 26 100 PACIFIC GAS & ELECTRIC \$16.38 \$1,638.00 27 25 PENNSYLVANIA POWER \$24.25 \$606.00 28 52 SCEDPTRE RESOURCES \$4.75 \$252.00 30 10 SEARS TAX-EXEMPT INVESTMENT \$90.40 \$90.400 31 25 SEARS, ROEBICK & CO. \$30.25 \$756.00 32 100 SERRA PACIFIC POWER CO. \$15.63 \$1,553.00 33 25 STEPLING DRUM \$20.00 \$30.25 \$756.00 34 100 SERRA PACIFIC POWER CO. \$15.63 \$1,553.00 35 25 STEPLING DRUM \$22.00 \$355.00 36 31 TENNECO, INC. \$355.98 \$1,112.00 37 25 TEXACO, INC. \$355.98 \$1,112.00 38 62 THE BOSING COMPANY \$54.63 \$3,287.00 39 100 THE LITY CORP \$10.25 \$11.05 30 TOYOTA MOTOR SIRR YILSON \$4.81 \$188.00 41 50 UNDYNAMICS, INC. \$14.25 \$713.00 42 25 VESTEN DEEP LEVEL \$47.00 \$5.70.00 44 200 VESTINGHOUSE ELECTRIC \$25.50 \$5,100.00					
10 50					
11 50 DOKON CORP					
12 25 GENERAL MOTORS CORP. \$74.75 \$1,869.00 18 100 GILF & YESTERN MOUSTRES \$27.00 \$2,700.00 14 100 HARTONY GOLD MINING CO. \$17.15 \$1,713.00 15 250 HARTEESSTICTIN GOLD MINIG \$6.25 \$1,563.00 16 25 HERSHEY OL CORP \$4.88 \$122.00 17 115 HORIZON CORP. \$4.88 \$122.00 18 100 HOUSTON OL TRUST UBI \$6.00 \$600.00 19 55 KEY PHARMACEUTICALS \$9,75 \$556.00 20 25 KINROSS MINES, LTD \$22.00 \$550.00 21 25 KINROSS MINES, LTD \$22.00 \$550.00 22 720 L&S, INC., CAPITAL STICKS \$225,000.00 23 25 LEANON GOLD MINING CO., LTD \$44.13 \$1,103.00 24 75 LOCKHEED CORP \$43.65 \$3,272.00 25 25 LEANON GOLD MINES \$26.50 \$663.00 26 100 PACIFIC GAS & ELECTRIC \$16.38 \$1,638.00 27 25 PENNSYLVANIA POWER CO. \$25.13 \$628.00 28 53 SCEDPTRE RESOURCES \$4.75 \$252.00 29 16 SEAGULL PIPELLINE ENERGY \$19.88 \$318.00 30 10 SEARS TAX-EXETET INVESTMENT \$90.40 \$904.00 31 25 SEARS, ROESICK & CO. \$30.25 \$756.00 32 100 SERRA PACIFIC POWER CO. \$15.63 \$1,563.00 33 25 STERLING DRUG \$26.88 \$672.00 34 100 STLFONTEN GOLD MINING \$11.25 \$1,125.00 35 62 SUNSHEE MINING CO. \$15.63 \$1,563.00 36 31 TENNECO, INC. \$35.88 \$1,112.00 37 25 TEXACO, INC. \$35.88 \$1,112.00 38 62 THE BORIGO COMP ANY \$54.63 \$2,387.00 39 TOYOTA MOTOR BIRR YLSON \$4.81 \$188.00 40 39 TOYOTA MOTOR BIRR YLSON \$4.81 \$188.00 41 50 UNIDYNAMICS, INC. \$14.25 \$713.00 42 25 YESTERN DEEP LEVEL \$47.00 \$1,175.00 44 200 YESTERN DEUR IERNERN \$47.00 \$1,175.00 44 200 YESTERN DEUR IERNERN \$47.00 \$1,175.00					_
18					•
14 100 HARMORY GOLD MINING CO. \$17.13 \$1,713.00 15 250 HARTEESSTEYTH GOLD MING \$6.25 \$1,563.00 16 25 HERSHEY OF CORP \$4.88 \$122.00 17 115 HORRON CORP. \$4.88 \$551.00 18 100 HOUSTON OF TRUST UBI \$6.00 \$6.00 \$6.00.00 19 55 KEY PHARMACEUT ICALS \$9.75 \$556.00 20 25 KITROSS MERS, LTD \$22.00 \$550.00 21 25 KLOOF GOLD MENING CO., LTD \$44.13 \$1,103.00 22 720 L&S, MC., CAPITAL STICKS \$225,000.00 23 25 LEANON GOLD MERS \$26.50 \$663.00 24 75 LOCKHEED CORP \$43.65 \$3,272.00 25 25 MORTANA POWER CO. \$25.13 \$628.00 26 100 PACETIC GAS & ELECTRIC \$16.38 \$1,638.00 27 25 PENNSYLVANIA POWER \$24.25 \$606.00 28 52 SEEDFTER RESOURCES \$4.75 \$252.00 29 16 SEAGUL PIPELLINE ENERGY \$19.88 \$318.00 30 10 SEARS TAX-EXEMENT INVESTMENT \$90.40 \$904.00 31 25 SEARS, ROGERLEN & CO. \$30.25 \$756.00 32 100 SERRA PACETIC POWER CO. \$15.63 \$1,563.00 33 25 STERLING DRUG \$26.88 \$872.00 34 100 STERDINTEN GOLD MINING \$11.05 \$1,125.00 35 62 SUNSHEE MINING CO. \$10.00 \$620.00 36 31 TENNECO, INC. \$25.88 \$1,112.00 37 25 TEXACO, INC. \$25.88 \$1,112.00 38 62 THE BORING CO. \$10.00 \$620.00 39 TOYOTA MOTOR BER YILSON \$4.81 \$188.00 40 39 TOYOTA MOTOR BER YILSON \$4.81 \$188.00 41 50 UNDYNAMICS, INC. \$14.25 \$713.00 44 200 YESTINGHOUSE ELECTRIC \$25.50 \$5,100.00					<u>-</u>
15 250 HARTEESSTEVTN GOLD MING \$6.25 \$1,563.00 16 25 HERSHEY OE CORP \$4.88 \$122.00 17 115 HORIZON CORP. \$4.88 \$122.00 18 100 HOUSTON OE TRUST UBI \$6.00 \$600.00 19 55 KEY PHARMACEUTICALS \$9.75 \$556.00 20 25 KEYONASS MINES, LTD \$22.00 \$550.00 21 25 KECO GOLD MENING CO., LTD \$44.13 \$1,103.00 22 720 L&S, INC., CAPITAL STICKS \$225,000.00 23 25 LEBANON GOLD MINES \$26.50 \$663.00 24 75 LOCKHEED CORP \$43.65 \$3,272.00 25 25 MONTANA POWER CO. \$25.13 \$628.00 26 100 PACETIC GAS & ELECTRIC \$16.38 \$1,638.00 27 25 PENNSYLVANIA POWER \$24.25 \$606.00 28 53 SEEDTHER RISOLINES \$4.75 \$252.00 29 16 SEAGULL PIPELLINE ENERGY \$19.88 \$318.00 30 10 SEARS TAX-EXEMPT INVESTMENT \$90.40 \$904.00 31 25 SEARS, ROEBICK & CO. \$30.25 \$756.00 32 100 SERRA PACETIC POWER CO. \$15.63 \$1,563.00 33 25 STEPLING DRUG \$26.88 \$672.00 34 100 STEFONTEN GOLD MINING \$11.05 \$1,125.00 35 25 SUSSINE MINING CO. \$10.00 \$620.00 36 31 TENSECO, INC. \$35.88 \$1,112.00 37 25 TEXACO, INC. \$35.88 \$1,112.00 38 62 THE BOEING COMP ANY \$54.63 \$3,387.00 39 100 THE LITY CORP \$10.25 \$1,025.00 40 39 TOYOTA MOTOR BER YILSON \$4.81 \$18.00 41 50 UNDYNAMICS, INC. \$14.25 \$713.00 44 200 YESTINGHOUSE ELECTRIC \$25.50 \$5,100.00					•
16					
17 115 HORRON CORP. \$4.88 \$551.00 18 100 HOUSTON OL TRUST UBI \$6.00 \$600.00 19 55 KEY PHARMACEUTICALS \$9.75 \$536.00 20 25 KIUROSS MERES, LTD \$22.00 \$559.00 21 25 KLOOF GOLD MINING CO., LTD \$44.13 \$1,103.00 22 720 L&S, INC., CAPITAL STOCKS \$225,000.00 23 25 LEANON GOLD MINING CO., LTD \$45.63 \$225,000.00 24 75 LOCKHEED CORP \$45.63 \$3.272.00 25 25 MONTANA POWER CO. \$25.13 \$528.00 26 100 PACETIC GAS & ELECTRIC \$16.38 \$1,638.00 27 25 PENNSYLVANIA POWER \$24.25 \$606.00 28 53 SCEDPTRE RESOURCES \$4.75 \$252.00 29 16 SEAGULL PIPELL RE ENERGY \$19.88 \$318.00 30 10 SEARS TAX-EXPLIPET INVESTMENT \$90.40 \$904.00 31 25 SEARS, ROESLECK & CO. \$30.25 \$756.00 32 100 SERRA PACETIC POWER CO. \$15.63 \$1,553.00 33 25 STEPLING DRUG \$26.88 \$672.00 34 100 STILFONTEN GOLD MINING \$11.25 \$1,125.00 35 62 SUNSHIPE MINING CO. \$10.00 \$620.00 36 31 TENNECO, INC. \$35.88 \$1,112.00 37 25 TEXACO, INC. \$35.88 \$1,112.00 38 62 THE BOEING COMPANY \$54.63 \$3,287.00 40 39 TOYOTA MOTOR BIRR YILSON \$44.81 \$18.80 41 50 UNIDYNAMICS, INC. \$14.25 \$1,025.00 42 25 - YEATHER FORD INTERNATIONAL \$3.75 \$94.00 43 25 YESTEN DEEP LEVEL \$47.00 \$1,175.00 44 200 YESTINGHOUSE ELECTRIC \$25.50 \$5,100.00				·	APP
18 100 HOUSTON OL TRUST UBI \$6.00 \$600.00 19 55 KEY PHARMACEUTICALS \$9.75 \$536.00 20 25 KEYROSS MERES, LTD \$22.00 \$550.00 21 25 KLCOF GOLD MINING CO., LTD \$44.13 \$1,103.00 22 720 L&S, INC., CAPITAL STICKS \$225,000.00 23 25 LEARION GOLD MINES \$26.50 \$463.00 24 75 LOCKHEED CORP \$43.65 \$3.272.00 25 25 MONTANA POWER CO. \$25.13 \$228.00 26 100 PACEFIC GAS & ELECTRIC \$16.38 \$1,638.00 27 25 PENNSYLVANIA POWER \$24.25 \$606.00 28 53 SCEDPTRE RESOURCES \$4.75 \$252.00 29 16 SEAGULL PIPELL RE ENERGY \$19.88 \$318.00 30 10 SEARS TAN-EXTINET RIVESTMENT \$90.40 \$904.00 31 25 SEARS, ROEBLEK & CO. \$30.25 \$756.00 32 100 SERRA PACEFIC POYER CO. \$15.63 \$1,553.00 33 25 STEPLING DRUG \$26.88 \$672.00 34 100 STLFONTEN GOLD MINING \$11.25 \$1,125.00 35 62 SUNSHEM MINING CO. \$10.00 \$620.00 36 31 TERNECO, INC. \$35.88 \$1,112.00 37 25 TEXACO, INC. \$35.88 \$1,112.00 38 62 THE BOEING COMP ANY \$54.63 \$3,287.00 40 39 TOYOTA MOTOR BIRR YILSON \$4.81 \$18.00 41 50 UNIDYNAMICS, INC. \$14.25 \$1,025.00 42 25 - YEATHERFORD INTERNATIONAL \$3.75 \$94.00 43 25 YESTEN DEEP LEVEL \$47.00 \$1,175.00 44 200 YESTINGHOUSE ELECTRIC \$25.00 \$5,100.00				· .	
19 55 KEY PHARMACEUTICALS \$9.75 \$536.00 20 25 KITROSS MERES, LTD \$22.00 \$550.00 21 25 KLOOF GOLD MENES CO., LTD \$44.13 \$1,103.00 22 720 L&S, WC., CAPITAL STOCKS \$225,600.00 23 25 LEANON GOLD MERES \$26.50 \$663.00 24 75 LOCKHEED CORP \$43.63 \$3,272.00 25 25 MONTANA POWER CO. \$25.13 \$628.00 26 100 PACEFIC GAS & ELECTRIC \$16.38 \$1,638.00 27 25 PENNSYLVANIA POWER \$24.25 \$606.00 28 53 SCEDPTRE RESOURCES \$4.75 \$252.00 29 16 SEAGULL PIPELL RE ENERGY \$19.88 \$318.00 30 10 SEARS TAM-EXTIPPT INVESTMENT \$90.40 \$904.00 31 25 SEARS, ROEBLECK & CO. \$30.25 \$756.00 32 100 SERRA PACEFIC POWER CO. \$15.63 \$1,563.00 33 25 STEPLING DRUG \$26.88 \$672.00 34 100 STEPONTEIN GOLD MINING \$11.15 \$1,125.00 35 62 SUNSHEE MIXING CO. \$10.00 \$620.00 36 31 TENNECO, INC. \$35.88 \$1,112.00 37 25 TEXACO, INC. \$35.88 \$1,112.00 38 62 THE BOEING COMP ANY \$54.63 \$3,287.00 40 39 TOYOTA MOTOR BIRR YILSON \$4.81 \$188.00 41 50 UNDYNAMIES, INC. \$14.25 \$713.00 42 25 YESTERN DEEP LEYEL \$47.00 \$1,175.00 44 200 YESTENGHOUSE ELECTRIC \$25.50 \$5,100.00					
20 25 KITROSS MINES, LTD \$22.00 \$.550.00 21 25 KLCOF GOLD MINING CO., LTD \$44 13 \$1,103.00 22 720 L&S, INC., CAPITAL STOCKS \$225,000.00 23 25 LBANON GOLD MINES \$26.50 \$663.00 24 75 LOCKHEED CORP \$43.63 \$3,272.00 25 25 MONTANA POVER CO. \$25.13 \$628.00 26 100 PACFIC GAS & ELECTRIC \$16.38 \$1,638.00 27 25 PENNSYLVANIA POWER \$24.25 \$606.00 28 53 SCEDPTRE RESOURCES \$4.75 \$252.00 29 16 SEAGULL PIPELLINE ENERGY \$19.88 \$318.00 30 10 SEARS TAX-EXEMPT INVESTMENT \$90.40 \$904.00 31 25 SEARS, ROEBICK & CO. \$30.25 \$756.00 32 100 SERRA PACFIC POVER CO. \$15.63 \$1,563.00 33 25 STEPLING DRUG \$26.98 \$672.00 34 100 STEPONTEIN GOLD MINING \$11.25 \$1,125.00 35 62 SUNSHIPE MINING CO. \$10.00 \$620.00 36 31 TENNECO, INC. \$35.88 \$1,112.00 37 25 TEXACO, INC. \$35.88 \$1,112.00 38 62 THE BORING COMPANY \$54.63 \$3,387.00 40 39 TOYOTA MOTOR BIRR WILSON \$4.81 \$188.00 41 50 UNDYNAMICS, INC. \$14.25 \$713.00 42 25 YESTERN DEEP LEVEL \$47.00 \$1,175.00 44 200 YESTENGHOUSE ELECTRIC \$25.50 \$5,100.00					The second secon
21 25 KLOOF GOLD MINING CO., LTD \$44 13 \$1,103.00 22 720 L&S, NC., CAPITAL STUCKS \$225,000.00 23 25 LEANON GOLD MINES \$26,50 \$463.00 24 75 LOCKHEED CORP \$43.63 \$3,272.00 25 25 MONTANA POWER CO. \$25.13 \$628.00 26 100 PACETIC GAS & ELECTRIC \$16.38 \$1,638.00 27 25 PENNSYLVANIA POWER \$24.25 \$606.00 28 53 SCEDPTRE RESOURCES \$4.75 \$252.00 29 16 SEAGUL PIPELLINE ENERGY \$19.88 \$318.00 30 10 SEARS TAX-EXEMPT INVESTMENT \$ \$90.40 \$904.00 31 25 SEARS, ROEBICK & CO. \$30.25 \$756.00 32 100 SERRA PACETIC POWER CO. \$15.63 \$1,563.00 33 25 STERLING DRUG \$26.88 \$672.00 34 100 STEFONTEIN GOLD MINING \$11.25 \$1,125.00 35 62 SUNSHIPE MINING CO. \$10.00 \$620.00 36 31 TENNECO, INC. \$35.88 \$1,112.00 37 25 TEXACO, INC. \$35.80 \$1,112.00 38 62 THE BOEING COMPANY \$54.63 \$3,387.00 39 100 THE LTY CORP \$10.25 \$1,025.00 40 39 TOYOTA MOTOR BIRR YILSON \$4.81 \$188.00 41 50 UNIDYNAMICS, INC. \$14.25 \$713.00 42 25 - YEATHERFORD INTERNATIONAL \$3.75 \$94.00 44 200 YESTINGHOUSE ELECTRIC \$25.50 \$5,100.00					7%
22 720 L&S, INC., CAPITAL STOCKS \$225,000.00 23 25 LIBANON GOLD MINES \$26,50 \$663.00 24 75 LOCKHEED CORP \$43.63 \$3,272.00 25 25 MONTANA POYER CO. \$25.13 \$628.00 26 100 PACEFIC GAS & ELECTRIC \$16.38 \$1,638.00 27 25 PENNSYLVANIA POWER \$24.25 \$606.00 28 53 SCEDPTRE RESOURCES \$4.75 \$252.00 29 16 SEAGUL PPELLINE ENERGY \$19.88 \$318.00 30 10 SEARS TAX-EXEMPT INVESTMENT \$ \$90.40 \$904.00 31 25 SEARS, ROEBLECK & CO. \$30.25 \$756.00 32 100 SERRA PACIFIC POYER CO. \$15.63 \$1,563.00 33 25 STERLING DRUG \$26.98 \$672.00 34 100 STEFONTEIN GOLD MINING \$11.25 \$1,125.00 35 62 SUNSHINE MINING CO. \$10.00 \$620.00 36 <td></td> <td></td> <td><u>-</u></td> <td></td> <td>7%</td>			<u>-</u>		7%
25			•		76.
24 75 LOCKHEED CORF \$43.63 \$3,272.00 25 25 MONTANA POWER CO. \$25.13 \$628.00 26 100 PACIFIC GAS & ELECTRIC \$16.38 \$1,638.00 27 25 PENNSYLVANIA POWER \$24.25 \$605.00 28 53 SCEDPTRE RESOURCES \$4.75 \$252.00 29 16 SEAGULL PIPELLINE ENERGY \$19.88 \$318.00 30 10 SEARS TAX-EXEMPT INVESTMENT \$ \$90.40 \$904.00 31 25 SEARS, ROEBLEK & CO. \$30.25 \$756.00 32 100 SERRA PACIFIC POYER CO. \$15.63 \$1,553.00 33 25 STERLING DRUG \$26.88 \$672.00 34 100 STEFONTEIN GOLD MINING \$11.25 \$1,125.00 35 62 SUNSHINE MINING CO. \$10.00 \$620.00 36 31 TENNECO, INC. \$35.88 \$1,112.00 37 25 TEXACO, INC. \$34.00 \$650.00 3			•	\$26,50	1 -
25 MONT ANA POVER CO. \$25.13 \$528.00 26 100 PACETIC GAS & ELECTRIC \$16.38 \$1,638.00 27 25 PENNSYLVANIA POWER \$24.25 \$606.00 28 53 SCEDPTRE RESOURCES \$4.75 \$252.00 29 16 SEAGULL PIPELLINE ENERGY \$19.88 \$318.00 30 10 SEARS TAX-EXEMPT INVESTMENT \$ \$90.40 \$904.00 31 25 SEARS, ROEBICK & CO. \$30.25 \$756.00 32 100 SERRA PACETIC POYER CO. \$15.63 \$1,563.00 32 25 STERLING DRUG \$26.98 \$672.00 34 100 STEFONTEIN GOLD MINING \$11.25 \$1,125.00 35 62 SUNSHEW MINING CO. \$10.00 \$620.00 36 31 TENNECO, INC. \$35.88 \$1,112.00 37 25 TEXACO, INC. \$34.00 \$650.00 38 62 THE BORING COMPANY \$54.63 \$3,387.00 40					1 1
26 100 PACFIC GAS & ELECTRIC \$16.38 \$1,638.00 27 25 PENNSYLVANIA POWER \$24.25 \$606.00 28 53 SCEDPTRE RESOURCES \$4.75 \$252.00 29 16 SEAGULL PIPELLINE ENERGY \$19.88 \$318.00 30 10 SEARS TAX-EXEMPT INVESTMENT \$ \$90.40 \$904.00 31 25 SEARS, ROEBLEK & CO. \$30.25 \$756.00 32 100 SERRA PACE IC POYER CO. \$15.63 \$1,563.00 33 25 STERLING DRUG \$26.88 \$672.00 34 100 STEFONTEIN GOLD MINING \$11.25 \$1,125.00 35 62 SUNSHINE MINING CO. \$10.00 \$620.00 36 31 TENNECO, INC. \$35.88 \$1,112.00 36 31 TENNECO, INC. \$35.88 \$1,112.00 37 25 TEXACO, INC. \$35.88 \$1,112.00 38 62 THE BOEING COMPANY \$54.63 \$3,387.00 40 39 TOYOTA MOTOR BIER YILSON \$4.81 \$188.00 <tr< td=""><td></td><td></td><td></td><td>76.</td><td>2</td></tr<>				76.	2
27 25 PENNSYLVANIA POWER \$24.25 \$606.00 28 53 SCEDPTRE RESOURCES \$4.75 \$252.00 29 16 SEAGULL PIPELLINE ENERGY \$19.88 \$318.00 30 10 SEARS TAX-EXEMPT INVESTMENT \$ \$90.40 \$904.00 31 25 SEARS, ROEBLECK & CO. \$30.25 \$756.00 32 100 SERRA PACIFIC POWER CO. \$15.63 \$1,563.00 33 25 STERLING DRUG \$26.98 \$672.00 34 100 STILFONTEIN GOLD MINING \$11.25 \$1,125.00 34 100 STILFONTEIN GOLD MINING \$11.25 \$1,125.00 35 62 SUNSHINE MINING CO. \$10.00 \$620.00 36 31 TENNECO, INC. \$35.88 \$1,112.00 37 25 TEXACO, INC. \$34.00 \$650.00 38 62 THE BOEING COMPANY \$54.63 \$3,387.00 40 39 TOYOTA MOTOR BIER YILSON \$4.81 \$188.00 41 50 UNIDYNAMICS, INC. \$14.25 \$713.00			PACIFIC GAS & ELECTRIC	76.	\$1,638.00
28 53 SCEDPTRE RESOURCES \$4.75 \$252.00 29 16 SEAGULL PIPELLINE ENERGY \$19.88 \$318.00 30 10 SEARS TAX-EXEMPT INVESTMENT \$ \$90.40 \$904.00 31 25 SEARS, ROEBLECK & CO. \$30.25 \$756.00 32 100 SERRA PACE IC POYER CO. \$15.63 \$1,563.00 32 25 STERLING DRUG \$26.98 \$672.00 34 100 STEFONTEIN GOLD MINING \$11.25 \$1,125.00 34 100 STEFONTEIN GOLD MINING \$11.25 \$1,125.00 35 62 SUNSHINE MINING CO. \$10.00 \$620.00 36 31 TENNECO, INC. \$35.88 \$1,112.00 37 25 TEXACO, INC. \$34.00 \$650.00 38 62 THE BOEING COMPANY \$54.63 \$3,387.00 40 39 TOYOTA MOTOR BERR YILSON \$4.81 \$188.00 41 50 UINDYNAMICS, INC. \$14.25 \$713.00			PENNSYLYANIA POWER	76.	200
29 16 SEAGULL PIPELLINE ENERGY \$19.88 \$318.00 30 10 SEARS TAX-EXEMPT INVESTMENT \$ \$90.40 \$904.00 31 25 SEARS, ROEBLECK & CO. \$30.25 \$756.00 32 100 SERRA PACKIC POWER CO. \$15.63 \$1,563.00 33 25 STERLING DRUG \$26.88 \$672.00 34 100 STEFONTEIN GOLD MINING \$11.25 \$1,125.00 35 62 SUNSHINE MINING CO. \$10.00 \$620.00 36 31 TEINECO, INC. \$35.88 \$1,112.00 37 25 TEXACO, INC. \$34.00 \$650.00 38 62 THE BOEING COMP ANY \$54.63 \$3,387.00 39 100 THE LTY CORP \$10.25 \$1,025.00 40 39 TOYOTA MOTOR BIRR YILSON \$4.81 \$188.00 41 50 UNIDYNAMICS, INC. \$14.25 \$713.00 42 25 - WEATHERFORD INTERNATIONAL \$3.75 \$94.00 43 25 WESTENCHOUSE ELECTRIC \$25.50 \$5,100.00				No.	\$252.00
30 10 SEARS TAX-EXEMPT INVESTMENT \$ \$90.40 \$904.00 31 25 SEARS, ROEBLECK & CO. \$30.25 \$756.00 32 100 SERRA PACE IC POWER CO. \$15.63 \$1,563.00 33 25 STERLING DRUG \$26.98 \$672.00 34 100 STILFONTEIN GOLD MINING \$11.25 \$1,125.00 35 62 SUNSHINE MINING CO. \$10.00 \$620.00 36 31 TENNECO, INC. \$35.88 \$1,112.00 37 25 TEXACO, INC. \$34.00 \$650.00 38 62 THE BOEING COMPANY \$54.63 \$3,387.00 39 100 THE LTY CORP \$10.25 \$1,025.00 40 39 TOYOTA MOTOR BERR YILSON \$4.81 \$188.00 41 50 UNDYNAMICS, INC. \$14.25 \$713.00 42 25 YEATHERFORD INTERNATIONAL \$3.75 \$94.00 43 25 YESTERN DEEP LEVEL \$470.00 \$1,175.00 <			SEAGULL PIPELLINE ENERGY	75.	\$318.00
32 100 SERRA PACE IC POYER CO. \$15.63 \$1,563.00 33 25 STERLING DRUG \$26.98 \$672.00 34 100 STILFONTEIN GOLD MINING \$11.25 \$1,125.00 35 62 SUNSHINE MINING CO. \$10.00 \$620.00 36 31 TENNECO, INC. \$35.88 \$1,112.00 37 25 TEXACO, INC. \$34.00 \$650.00 38 62 THE BOEING COMP ANY \$54.63 \$3,387.00 39 100 THE LTY CORP \$10.25 \$1,025.00 40 39 TOYOTA MOTOR BIRR YILSON \$4.81 \$188.00 41 50 UNDYNAMICS, INC. \$14.25 \$713.00 42 25 YEATHERFORD INTERNATIONAL \$3.75 \$94.00 43 25 YESTERN DEEP LEYEL \$47.00 \$1,175.00 44 200 YESTINGHOUSE ELECTRIC \$25.50 \$5,100.00		10	SEARS TAX-EXEMPT INVESTMENT	\$ \$90.40	\$904.00
32 100 SERRA PACIFIC POWER CO. \$15.63 \$1,563.00 33 25 STERLING DRUG \$26.98 \$672.00 34 100 STILFONTEIN GOLD MINING \$11.25 \$1,125.00 35 62 SUNSHIVE MINING CO. \$10.00 \$620.00 36 31 TENNECO, INC. \$35.88 \$1,112.00 37 25 TEXACO, INC. \$34.00 \$650.00 38 62 THE BOEING COMPANY \$54.63 \$3,387.00 39 100 THE LTY CORP \$10.25 \$1,025.00 40 39 TOYOTA MOTOR BIER MILSON \$4.81 \$188.00 41 50 UNIDYNAMICS, INC. \$14.25 \$713.00 42 25 WEATHERFORD INTERNATIONAL \$3.75 \$94.00 43 25 WESTERN DEEP LEVEL \$47.00 \$1,175.00 44 200 WESTINGHOUSE ELECTRIC \$25.50 \$5,100.00	31	25	SEARS, ROEBLICK & CO.	\$30.25	\$756.00
34 100 STILFONTE IN GOLD MINING \$11.25 \$1,125.00 35 62 SUNSHIVE MINING CO. \$10.00 \$620.00 36 31 TENNECO, INC. \$35.88 \$1,112.00 37 25 TEXACO, INC. \$34.00 \$650.00 38 62 THE BOEING COMPANY \$54.63 \$3,387.00 39 100 THE LTY CORP \$10.25 \$1,025.00 40 39 TOYOTA MOTOR BIRR YILSON \$4.81 \$188.00 41 50 UNIDYNAMICS, INC. \$14.25 \$713.00 42 25 -WEATHERFORD INTERNATIONAL \$3.75 \$94.00 43 25 WESTERN DEEP LEVEL \$47.00 \$1,175.00 44 200 WESTINGHOUSE ELECTRIC \$25.50 \$5,100.00		100	· / /	\$15.63	\$1,553.00
34 100 STILFONTE IN GOLD MINING \$11.25 \$1,125.00 35 62 SUNSHIVE MINING CO. \$10.00 \$620.00 36 31 TENNECO, INC. \$35.88 \$1,112.00 37 25 TEXACO, INC. \$34.00 \$650.00 38 62 THE BOEING COMP ANY \$54.63 \$3,387.00 39 100 THE LTY CORP \$10.25 \$1,025.00 40 39 TOYOTA MOTOR BIRR YILSON \$4.81 \$188.00 41 50 UNIDYNAMICS, INC. \$14.25 \$713.00 42 25 - WEATHERFORD INTERNATIONAL \$3.75 \$94.00 43 25 WESTERN DEEP LEVEL \$47.00 \$1,175.00 44 200 WESTINGHOUSE ELECTRIC \$25.50 \$5,100.00		25	STERLING DRUG	\$26,88	\$672.00
36 31 TENNECO, INC. \$35.88 \$1,112.00 37 25 TEXACO, INC. \$34.00 \$650.00 38 62 THE BOEING COMPANY \$54.63 \$3,387.00 39 100 THE LTY CORP \$10.25 \$1,025.00 40 39 TOYOTA MOTOR BIRR YILSON \$4.81 \$188.00 41 50 UNDYNAMICS, INC. \$14.25 \$713.00 42 25 - WEATHERFORD INTERNATIONAL \$3.75 \$94.00 43 25 WESTERN DEEP LEVEL \$47.00 \$1,175.00 44 200 WESTINGHOUSE ELECTRIC \$25.50 \$5,100.00		100	STILFONTERN GOLD MINING	\$11.25	\$1,125.00
37 25 TEXACO, INC. \$34.00 \$650.00 38 62 THE BOEING COMPANY \$54.63 \$3,387.00 39 100 THE LTV CORP \$10.25 \$1,025.00 40 39 TOYOTA MOTOR BIRR YILSON \$4.81 \$188.00 41 50 UNIDYNAMICS, INC. \$14.25 \$713.00 42 25 - WEATHERFORD INTERNATIONAL \$3.75 \$94.00 43 25 WESTERN DEEP LEVEL \$47.00 \$1,175.00 44 200 WESTINGHOUSE ELECTRIC \$25.50 \$5,100.00	35	62	SUNSHINE MINING CO.	\$10.00	\$620.00
37 25 TEXACO, INC. \$34.00 \$650.00 38 62 THE BOEING COMPANY \$54.63 \$3,387.00 39 100 THE LTV CORP \$10.25 \$1,025.00 40 39 TOYOTA MOTOR BIRR YILSON \$4.81 \$188.00 41 50 UNIDYNAMICS, INC. \$14.25 \$713.00 42 25 - WEATHERFORD INTERNATIONAL \$3.75 \$94.00 43 25 WESTERN DEEP LEVEL \$47.00 \$1,175.00 44 200 WESTINGHOUSE ELECTRIC \$25.50 \$5,100.00	36	31	TENNECO, INC.	\$35.88	\$1,112.00
38 62 THE BOEING COMPANY \$54.63 \$3,387.00 39 100 THE LTY CORP \$10.25 \$1,025.00 40 39 TOYOTA MOTOR BIRR YILSON \$4.81 \$188.00 41 50 UNIDYNAMICS, INC. \$14.25 \$713.00 42 25 - WEATHERFORD INTERNATIONAL \$3.75 \$94.00 43 25 WESTERN DEEP LEVEL \$47.00 \$1,175.00 44 200 WESTINGHOUSE ELECTRIC \$25.50 \$5,100.00		25	- N	\$34.00	\$650.00
40 39 TOYOTA MOTOR BERR YILSON \$4.81 \$188.00 41 50 UNIDYNAMICS, INC. \$14.25 \$713.00 42 25 - WEATHERFORD INTERNATIONAL \$3.75 \$94.00 43 25 WESTERN DEEP LEVEL \$47.00 \$1,175.00 44 200 WESTINGHOUSE ELECTRIC \$25.50 \$5,100.00			The state of the s	\$54,63	\$3,387.00
40 39 TOYOTA MOTOR BERR YILSON \$4.81 \$188.00 41 50 UNDYNAMICS, INC. \$14.25 \$713.00 42 25 - WEATHERFORD INTERNATIONAL \$3.75 \$94.00 43 25 WESTERN DEEP LEVEL \$47.00 \$1,175.00 44 200 WESTINGHOUSE ELECTRIC \$25.50 \$5,100.00		100	THE LTY CORP	\$10.25	\$1,025.00
42 25 - WEATHERFORD INTERNATIONAL \$3.75 \$94.00 43 25 WESTERN DEEP LEVEL \$47.00 \$1,175.00 44 200 WESTINGHOUSE ELECTRIC \$25.50 \$5,100.00		39	HOSTIN SING SOTOM A TOYOT	\$4.81	\$188.00
43 25 YESTERN DEEP LEVEL \$47.00 \$1,175.00 44 200 YESTINGHOUSE ELECTRIC \$25.50 \$5,100.00	41	50	UNDYNAMICS, INC.	\$14.25	\$713.00
43 25 YESTERN DEEP LEVEL \$47.00 \$1,175.00 44 200 YESTINGHOUSE ELECTRIC \$25.50 \$5,100.00	42	1	The state of the s	\$3.75	\$94.00
44 200 YESTINGHOUSE ELECTRIC \$25.50 \$5,100.00		25	WESTERN DEEP LEVEL	\$47.00	175.00
	44	200	YESTINGHOUSE ELECTRIC	\$25.50	\$5,100.00
45 10 YILSON FOODS \$9.63 \$95.00	45	10	YILSON FOODS	\$9.63	\$95.00

TOTAL STOCKS \$276,946.00

. 161579

- 800K **987**PAGE **439**

SCHOLE C - MORTGAGES, NOTES, AIG CASH

1:0.	DESCRIPTION	AYFRE
1	NEVADA SAVINGS - ACCOUNT *1-077529-4	\$4,945.00
2	NEVADA SAVINGS - ACCOUNT #7-526927-4	\$10,000.00
3	IEVADA SAVINGS - ACCOUNT	\$440.00
4	FIRST FEDERAL SAVINGS - ACCOUNT *010-0032129	\$76.00
5	FIRST FEDERAL SAVINGS - ACCOUNT #010-0042128	\$50,000.00
E	FEST FEDERAL SAVINGS - ACCOUNT #010-0073239	\$8,240.00
7	FIRST FEDERAL SAVINGS - ACCOUNT FO10-0084653	\$44,553.00
8	FRIST FEDERAL SAYINGS - ACCOUNT #010-0073489	\$4,822.00
9	BIRR WESON - ACCOUNT #C-65-031-21927	\$7.00
10	IEVADA FIRST THRIFT - ACCOUNT #27967986	\$31.00
11	IEVADA BANKING COMPANY - ACCOUNT #CDA00100933188	\$100,000.00
12	FIRST WESTERN SAVINGS - ACCOUNT #15-37200286	\$4,092.00
13	FIRST WESTERN SAVINGS - ACCOUNT #15-89055143	\$50,000.00
14	FIRST YESTERN SAYENGS - ACCOUNT *15-00000704	\$214.00
15	FIRST YESTERN SAVINGS - ACCOUNT *15-69000552	\$50,000.00
16	FRST YESTERN SAVE(38 - ACCOUNT *15-71520138	\$:40. 00
17	FRST INTERSTATE BANK - TIME CERTIFICATE OF DEPOSIT - ACCT #041-00234093	\$50,000.00
18	KEVADA NATIONAL BAYTY - CERTIFICATE OF DEPOSIT - ACCOUNT #CD01181002816	\$20,000.08
19	REVADA NATIONAL - CETT TITATE OF DEPOSIT - ACCOUNT #0181003091	\$8,297.00
20	IEVADA NATICULENT "INGS ACCOUNT #0182044405	\$811.00
21	FRST FEDERAL SAVIUS: -1 LOAN - IRA ACCOUNT \$90-3656-7	\$2,382.00
22	FRST FEDERAL SAVINGE AND LOAN - IRA ACCOUNT #0100075164	\$2,384.00
23	FIRST FEDERAL SAVINGS AND LOAN - IRA ACCOUNT #010-0080883	\$2,173.00
24	FIRST FEDERAL SAVINGS AND LOAN - IRA ACCOUNT #010-0047747	\$2,302.00
25	FIRST FEDERAL SAVINGS AND LOAN - IRA ACCOUNT #0100036575	\$2,667.00
1		
	TOTAL MORTGAGES, KOTES AND CASH	\$418,476.00

YALUE 1:0. DESCRIPTION JENELRY, CLKOTHING, FURNITURE AND HOUSEHOLD FURNISHINGS, AND OTHER \$20,000.00 TANGELE ARTICLES OF A PERSONAL NATURE 2 \$800.00 3 1975 CHEVROLET MALIBU CLASSIC \$4,000.00 4 1980 PORTIAC PHOENIX \$17,633.00 VESTED INTEREST IN L & S, INC. PROFIT SHARING PALM \$42,433.00 TOTAL MISCELLAMEOUS PROPERTY

> BOOK 987PAGE 441 Page 1

161579

DESCRIPTION OF THE DEBT OR CLAIM

1 SECURITY BANK OF NEVADA, REAL ESTATE DEPT., P.O. BOX 5339, RENO, NEVADA 69505.
LOAN #15065, SECURED BY FIRST DEED OF TRUST ON MOTEL IN GARDNERVILLE, NEVADA \$40,816.00

2 LAWYERS TITLE INSURANCE CORP., RENO, NEVADA. LOAN #3281, SECURED BY SECOND DEED OF TRUST ON MOTEL IN GARDNERVILLE, NEVADA. \$47,289.00

3 L & S, INC. - LOAN TO SHAREHOLDER (NOTE: LOAN IS INCLUDED IN VALUATION OF L & S, INC.

STOCK INCLUDED IN SCHEDULE B)

\$26,761.00

TOTAL DEBTS

\$154,866.00

Certified Copy

The document to which this cortificate is attached is a full, true and correct copy of the original on file and of remord in my office.

SEAL

DATE: _

Clerk of the

Judicial District Court

of the State of Nevada, in and for the County of Douglas.

N.

Doores

Page 1

PERUESTED BY

1 Venney R. Buelow

1 IN OFFICIAL RECORDS OF

1 DUGLAS CO LYCYDDA

'87 SEP -4 A11:10

SUZANNE BEAUDREAU RECORDER

1/25 PAID THE DEPUTY

161579

BOOK 987PAGE 442